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mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The difference between compound interest and simple
interest for two years on a sum is Rs. 54, find the sum if the
rate of interest is 6% annum.

TH AR TR &l 91 & 1%’112 Tqeh g TSl 3R ATYRUT AT & ST

T 3R 54 U T, i ST BT S 6% Ufday g, df AT J1d
aﬁﬂ

Rs. 12000

Rs. 18000

Rs. 21000

Rs. 15000




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Narendra borrowed Rs. 32,000 from a bank at the rate of 5%
per annum, after 3 years, how much amount he will have to
deposit if the sum is compounded annually?

RS TP db T 5% Thdiy Tol, Uiday bl 22 T 32,000 3T
YR A1 T, 3 IV §1¢, IS A B a1 =0 T Jaiferd fHa
ST 8, a1 39 fhat I 57 BT g2

37,044
36,800
37,800

37,104




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A circular park has a circular path of a width of 4 cm around it.
If the ratio between the area of the outer and inner circle is
169 : 81, then find the diameter of outer circle.

U JAIHR UTeh & IRI 3R 4 YHI BT A18T5 HT TH JAIHR Y
g | e TTERT 3R SMIdAN® gd & &AHd & ard Bl ST 169 :
81 B, dl ST8XI g BT T J1d DI |

25 Ht
24 9l
23 ut
26 Ht




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Find the smallest number should be multiplied by 864 to
make a perfect cube number.

T8 TaH S I Hiford frgeh! 864 H UM B TR Th YUl
g T UTed Bl 5|

None of these




MM@,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /
If two cows and three horses cost Rs. 4,000 and three cows

and two horses cost Rs. 3,500, how much does a cow cost ?

T 3R A 9181 BT Hed 4,000 30 3R dH T 31

IR G
&l 9I8! &1 Hed 3,500 39T 8, TP 19 BT Hed foha-T 67
Rs. 1,500
Rs. 1,000
Rs. 500

Rs. 2,000




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Find the largest 4 digit number that is divisible by 8, 15, 16
and 20 exactly.

4 3P| BT T Fo! BT F1d DI ST 8, 15, 16 3R 20

quld: fauT=g g1

9920

9981

9972

9840




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Three numbers areinratio4 : 7 : 11 and their LCM is 4004.
Their HCF is

i AT, 4:7: 11 & JUIT H § 3R 3791 agaq JAIad
4004 g | ST HETH JHTIIAD T 57

11

13




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

'SpaceX' began a space project with $ 85000. After some
time, seeing a profit another company 'Blue Origin’ join the
project with $ 51,000. If the profit at the end of the year are

divided in the ratio of 5 : 1, then for how much period does
Blue Origin join?

WIURT $ 85000 & Ha & 1Y T 3fdRel RIS =
HRA1 ¢ | TB THT I18, TH P ¢d gU, TH 3= HUAT &
RS $ 51,000 & Ty TR | A gict g1 afc a8 &
AT Y 5 : 1 & 3gurd H fqvriora fowam omar §, o & 3fiikfom
forat erafy & forg =il giar 82

4 months

6 months

9 months

8 months



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A crate of fruits contains one spoiled fruit for every 30 fruits. 30% of the spoiled

fruits were sold. If the seller had sold 48 spoiled fruits, then the number of fruits
in the crate that are not spoiled.

Bl o Ueh I H Y 30 Tl H Y Ueh R1d hdd ¢ | WR1d gU Hdll H 3 30%
o QU U] Ifc fachdl 4 48 W Bd &4 4, dl SIh T WRId ol gU Bl DI G=Al
GG

4640

4000

4300

4200




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Taps A can fill a tank 7 times faster than tap B.If both the taps opened together
and they fill a tank in 5%hours.Find the time taken by tap B to fill the tank

alone.

T AFd B &I qaH1 | 7 71 doll J TP Sl WR Idhdl g, dfe aFl 9d U a1y

Ged ¢ 3R A 5 6 H TP bl WRA G DT HRA
JHY J1d DU

SRIRIEI

[T 3{hdl 7 B GIRT |

42 hours

7 hours

6 hours

35 hours



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The marked Price of an saree is Rs. 400. Two successive discounts of 10% and
15%, are given on its marked price. Then find the selling price of saree.

Ud ot Bl Sifbd Hed 3. 400. 5P 3ifdbd Ted TR 10% 3R 15% B &l AN
¢ ol Odl o | a1 ot Bl [dehd Hed JTd IO

Rs. 350

Rs. 306

Rs. 300

Rs. 380




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

X P dg -AdH HH 1 ¢ o fb 2x5472, 9 I faH=Y gl SIv|
What is the least value of x, so that 2x5472 is divisible by 9.




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Ratio b/w age of Rita and Sima is 2 : 5, and the sum of their ages 84. What is
the difference of their after 3 years?

3T SR AT DI 311 DT ST 22 5 €, 3R ST MY H1 AN 84 §1 3 I dlg
3T 3[R T 5?2

72

36

o4

40
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%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The price of sugar is increased by 20%. If the expen-
diture on sugar has to be kept the same as earlier,

the ratio between the reduction in consumption and
the original consumption is

=T % 99 H 20% i R}l w1 T 71 FfE =4 W fR
S o =99 Rl Yol fSiam & WA 81, 9 @9d § HHt
F1 J8cl i @Ud 9 Tqd BM—

(M 1:3 21:4 (@3)1:6 @ 1:5




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

Q5. A dishonest shopkeeper makes a cheating of 22.5% at time of buying the goods
and 6.66% cheating at the time of selling the goods. He promise to sale it at
11.11% loss. Find the profit % ?

TF TEA gHIGR @l TAT 22.5% $ 3R I9d T7T 6.66% 1 TEATE FaT §| 7 WHT
F 11.11% g1 9T a9 &7 @1 FIAT ¢ | A7 IUST A % AT HL ?

a)14.28% b)16.66% ¢)20% d)17.5%



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

An article 1s sold at a profit of 33% %. If both the CP

and SP were Rs1500 less, the profit would have 63 %

more. Find the CP of the article?
fordll a&q A % oM W SA1 AT &l IS FI FAod

IR faradea a4 & 1500 FA grd dr & % 31fes

BIcT 81 a&d T T Hed BT
2)9000 b)10000 ¢)12000 d)7500




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

A machine 1s sold at a profit of 18.18%. Had 1t sold
for Rs75 less there would have been a profit of
12.5%. Find the SP of machine

T #7MT 18.18% &y WX T ST & | Ifg 37 75

T HH H 99T ATAT § a 12.5% T o1 grar g1 JqMeT

&1 [AshaHeT dasT|
a) Rs 2500 b) Rs 1320 ¢) Rs 1560 d)NOT




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

After selling 72 article a man losses SP of 12 article.
[f the CP of article 1s 980. Find the SP of article.

72 IEIAT H dUA W TH AT 12 FEIIN H
fAhaHed & ST g1 1o Xl g1 Il a&] HT 3
Hed 980 ¥ & dl 39l T Hod ATd SIS

a)720 b)1020 ¢)840 d)880




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The income of C is 20% more than B's and the in-
come of B is 25% more than As. Find by how much
per cent is C's income more than As ?

C i 3T B! 34 9 20% 3178 & 3 B &I 3 A
3 W 25% 3k 8 1| CHI 3™, AHl 379 9 fHad
gfasd 31fees § 2

(1) 150%  (2) 50% (3) 25%  (4) 35%




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the unit digit in the expression :

(¥ =aSish oh1 ShTs 3T BT

(IH" + 2H)* + BY' + e
(100!)100!
(@) 7 (b) 4

(c) 6 (d) 8




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

3 men or 4 women can complete a piece of work in 5 days. In how many days
can 2 men and 3 women complete same piece of work?

3 goY 41 4 Aigd 5 fa4i T Ub 18 URTHR gobd 6 | 2 GY 3R 3 Afgdld fbad
(1 | JHHE B Bl HR Abd 572

a) 111 days
b) (17 days
C) 0/13 days

d) ..




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A chemist has 25 ml of a solution of acid and water that contains 20%
concentration of acid. What amount of pure acid (in millilitres) is to be added to
the solution, to increase the concentration of 75%?7

U Y & Ui 25 ! 31T 3R Ul &1 [daa- g foraH 20% 3 5 1 75% DI
qigdl Bl dgH o (U, g 3% ([Hcliclicx o) i {oa AEn o [daa- o foamr
ST dTieu?

a)
b)
c)
d)




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /
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MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The marked price of an article is Rs 1,000 After two successive discounts, it is
sold for Rs 600, If the first discount is X% and the second discount is 25%, then

what is the value of x?
Uh a¥] @1 Sifbd Jed 1,000 ¥Y @, &l ShANIA el b dla, 59 600 U4 H o]
SITT &, e Ugdl B¢ x% © 3R QORI B¢ 25% g, Al x BT A H1 82

12%

25%

185

20%




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A man, rowing a boat, covers a distance of 21 km in 7 hours downstream. He
covers (1/3)rd distance in same amount of time when rowing upstream.
Calculate the speed of the stream.

U Al 19 9dld gU, YR & 3dhd 7 °c H 21 fhdl df g1 79 ®dl g1 98 YR
& Ufddd 19 Iard §U &l @ (1/3)d HFT DI FHH JH H a9 7= = <™ @ 1fd

!l T DI a) cm/h
b) kmn
C) km/h

d) km/h




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Suresh travels to office at a speed of 30 km/hr and on his way back, he travels
at a speed of 45 km/hr. Find the average speed of the whole journey?

RN DA DI 3R 30 fhdider & ard I I ddl & 3R d19d Siid 9y 98 45
[opHi/eieT I are I AT Bl g | UL AT Bl S dTd JTd HIfor?

b) e
C) fpelissier

d) 3 fpal et




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A can do work in 4 days and B can do the same work in 5 days. The contract for
the work is Rs. 9000. What will be the share of B if they will work together?

A4 el § th &1 H IHdi g 3R B 34t &1 &1 5 feAi § 2 gbdl o | H1H Pl
3¢ 9000 ¥UZ g | Ul d (eI D HAl i B DI g¥d1 &1 g™

a)
b) oo
c) oo

d) o




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A 4-digit number is formed by repeating a 2-digit num-
ber such as 2525, 3232, etc. Any number of this
form is always exactly divisible by :

T& 2-3&g & & 3 91 -9y fom & &
4-3H1T & I T ®; FAT 2525, 3232, Ml =M
YR S T8 St HeAa |ea fhe ' 9 yofqan fawfs
gt 2

(1) 7 (2) 11

(3) 13 (4) Smallest 3-digit prime number




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The length of the rectangle is 25% more than its breadth and the area of the
rectangle is 125 cm?, find the perimeter of the rectangle?

3{Id &1 ddlg 9| dlsls I 25% 3(¥® § 3R Id B &Fhd 125 THI2 &,

3T I URIY J1d Difsr?
a) som
b) sem
C) 5 cm

d) ) CM




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The shadow of tower becomes 60m longer when the altitude
of the sun changes from 45” to 30”. Then the height of the
tower is-

ZTaY <Rl BTAT 60 HIET Tiat & ATl 8, ST T ohil I+ h10T
45° | T=TeRT 30° BT BT ATAT | a7 219 il F=T18 8-

A.20(V/3 +1)m B.24(V/3 + 1) m
c.30(v/3+1)m p.30(V3 — 1) m




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The sum of two numbers is 26. Their L.C.M and H.C.F are 84 and 2
respectively, find the difference of these numbers.

&l JBATSHT DT ARTHd 26 5| DT AYdH FHUGA 3R HgdH JHUddD hH: 84
3R 2 &, Al 37 JB=ATA] BT 3R A1d HIor |

a)
b)
C)
d)




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

In the arithmetic progression series 11, 16, 21, , what will be the

20" term?

gic FHIaR 90l 11, 16, 21, g, dI it @1 209 Ug 1 g2
a) 14
b) s
C) 8

d) o




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A man starts from his house and travelling at 30
km/h, he reaches his office late by 10 minutes,
and travelling at 24 km/h, he reaches his office
late by 18 minutes. The distance (in km.) from
his house to his office is :

Ueh Sfed 94 R 9 30 foRHl./=e i =1 9 I il
I FEeE | 10 e 30 @ wgaar @ wafe 24 fF.
/521 T I F A i W18 e it 8 9 e

THdl 81 S¥% W ¥ wEed w1 g (TR #) ©
(1) 18 (2) 16 (3) 12 (4) 20




=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

A man covered a certain distance at some
speed. If he had moved 3km/h faster, he would
have taken 40 min less. If he had moved
2km/h slower, he would have taken 40 min
more. The distance ( in kms ) is- T 3T&H! o
weh Tigra gt 1 %o id @ @ foham I o 3
fertfi/eieT a1 TrAar, af 9= 40 fuae &9 <an afe
g 2 Terwi/eer divt Tia & =rerar, ar 39 40 e
; '--a”alﬁgj(ﬁ#ﬂﬂfﬁ)ﬁp

30 km
40 km
50 km
60 km

o0 wp



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

There are two containers of equal capacity. The
ratio of milk to water in the first container is 3 :
1, in the second container 5 : 2. If they are mixed
up, the ratio of milk to water in the mixture will be

THM AT o & heR &1 Teed H g 3R T T U
3:1% AN TM ¥ 5: 22 Ik 3% foen fan =@ @
fagor & 39 IR UMY 1 U feRde € S 2
(1)28:41 (2)41:28 (3)15:41 (4)41:15




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

By selling 12 oranges for ¥ 60, a man loses 25%.
The number of oranges he has to sell for ¥ 100,
so as to gain 25% is

12 G ¥ 60 § 994 T Tk Al kil 25% &I Bidl 2|
JEIHR 3H 25% o4 & fIT F 100 ¥ fohad Hal o= =few?
(1) 10 (2) 11 (3) 12 (4) 15




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The compound interest earned in 1 year on a sum of Rs 600 at 40% per
annum compounded semi-annually is?

600 U D1 AR TR 1 98 & ol 40% Ui I D g2 I 3¢ aIitd =9 9
ST sifoid gshdls sArat fabaH1 gl

a) s. 200
b) s. 264
C) s 240

d) s. 205




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A and B have monthly incomes in the ratio 5 : 6
and monthly expenditures in the ratio 3 : 4. If

they save ¥ 1800 and ¥ 1600 respectively, find the
monthly income of B :

A 3R B & Hifgs F 5 : 6 & U H © q1 3%
qIfder =49 1 9| 3 : 4 81 A 9 Wfd A Fuen: 3
1800 3R F 1600 ! 9=d %id 8, dl B ! Hifqs 3=
SIGECI IS L

(1)T 3400 (2)T2700 (3)T 1720 (4)T 7200




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Average of first eight multiples of 8 is
8 & Ugdl 8 T[UIh| b 3IUd ©

—

a)
b)
C) t
d)

—

[




=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

A man covered a certain distance at some
speed. If he had moved 3km/h faster, he would
have taken 40 min less. If he had moved
2km/h slower, he would have taken 40 min
more. The distance ( in kms ) is- T 3T&H! o
weh Tigra gt 1 %o id @ @ foham I o 3
fertfi/eieT a1 TrAar, af 9= 40 fuae &9 <an afe
g 2 Terwi/eer divt Tia & =rerar, ar 39 40 e
; '--a”alﬁgj(ﬁ#ﬂﬂfﬁ)ﬁp

30 km
40 km
50 km
60 km

o0 wp



méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A sum of I 1750 is divided into two parts such that
the interests on the first part at 8% simple interest
per annum and that on the other part at 6% simple

interest per annum are equal. The interest on each
part (In rupees) is

1,750 ¥9F i Tk AT T 9 ° 39 YR fawfsa =i
STt € foh 98 9MT W 8% i X F aftieh WIERUT oA
R TR AT W 6% HI X G diftieh LR =S SR
21 99 J% WM I oS (F9E H) B-

(1) 60 (2) 65 (3) 70 (4) 40




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A sum of F 800 becomes F 956 in 3 years at a certain

rate of simple interest. If the rate of interest is in-
creased by 4%, what amount will the same sum be-
come in 3 years ?

800 TUW =hi I FHRU AN ol Teh F¥ad W W 3 99
T 956 ¥UT B ST 81 IS oS & 4% 91 < ST d 98
qfer 3 o o forat B e ?

(1) F 1025 (2) F 1042 (3) F 1052 (4) F 1024




